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A BEREA 7 XBR%E B : BFREE 7 : {F
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 [ XL b 5D | +1 | 420 | 4t 6D = | 920 11
2 it 1t 3NT = 600 1t 3NT = 600
3 panyiie] [£3] INT = 90 [£3] INT +1 120 1
4 E=] [£3] 4S = 620 [£3] 4S = 620
5 |Fitl = 4H +1 650 [£3] 4H +1 650
6 panyiic] [£3] 3NT = 400 [£3] 3NT = 400
7 E=] 1t 3NT +2 660 1t 3NT +1 630 1
8 TS x INT +1 -120 x 3NT -1 50 5
9 panyiie] [£3] 2S -2 -100 [£3] 3S -3 -150 2
10 | \WHB [£3] 2S = 110 x INTX -2 500 9
11 | W [ri] 2S -3 150 [£3] INT +2 150
12 | Edb 1t 3S -1 -100 [ri] 3D +1 -130 1
13 | WH/ [£3] 3NTX -2 -500 [£3] 2C -1 -100 9
14 | W 1t 2H = 110 [ri] INT -3 150 1
DATUM%Ztit iFEE
RISIEX ~FGS) r: 5 ] - 36
IEKR/EFE -3 eI/ PFREE] 34 ait 4 36
(T S LE £ -34 TR/ R 3 V.P. 2.66 | 17.34
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 6D = 920 1t 6D = 920
2 it [£3] 3NT -1 -100 [£3] 3NT -1 -100
3 panyiie] [£3] INT = 90 [£3] INT = 90
4 WE=] [£3] 4Sx = 790 [£3] 4S = 620 5
s |mit| @ | an | +1 | 650 | 4t | an | +1 | es0
6 panyiic] [£3] 3NT = 400 1t 3NT +1 430 1
7 E=] [£3] 3NT = 600 [£3] 5C = 600
8 TS [£3] 2H -1 -50 x 2S = -110 2
9 panyiie] [£3] 2S -2 -100 [ri] 3C +1 -130 1
10 | \WHB [£3] 2S +2 170 [£3] 2S -1 -100 7
11 | W [ri] 2S -3 150 [ri] 2S -3 150
12 | Edb x INT = -90 x 5Dx = -550 10
13 | W/ 1t 4S -2 -200 1t 2H +1 140
14 |wxl|l & 2s | +1 | 140 | 5 | aNT | -5 | 250 3
DATUM%tiT iAE
KIEIERA I MThe y. S+ ] 25 | 12
MIVESSSES 9 KSR/ JCRRRE -3 Aait 25 | 12
R/ H%E 3 =NXE/5KFH -9 V.P. 13.72 | 6.28
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 [ XL b 5D | +1 | 420 | 4t 6D = | 920 11
2 it [£3] 3NT = 600 [£3] 3NT +1 630 1
3 panyiie] [£3] INT +1 120 [£3] INT = 90 1
4 WE=] [£3] 4S = 620 [£3] 4S = 620
5 |Fitl = 4H +1 650 [£3] 4H +1 650
6 panyiic] [£3] 3NT = 400 [£3] 3NT = 400
7 E=] 1t 3NT +2 660 1t 3NT +2 660
8 TS x INT = -90 [£3] 3H -1 -50 1
9 panyiic] [£3] 2S -2 -100 [£3] 25X -4 -800 12
10 | \WHB [£3] 2S -1 -100 1t 3H -1 -100
11 | WE| & 2S 3| 150 & | INT | +1 | 120 1
12 | Edt [£3] 3S -3 -300 [ri] 4D = -130 5
13 | WA/ 1t 3C = 110 1t 3S +1 170 2
14 | W [ri] INT -3 150 [£3] 3S +1 170 1

DATUM%Ztit iFEE
izERA ARER Z: 5 ] 14 | 21

SRIE/IELE 4 DHEE/ B 7 ait 14 | 21
ZAR R/ E N F -7 SRS /{ELR R -4 V.P. 7.84 | 12.16
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x| | R | m | R | mee| e | 2 |er axe| 20| T

1 TS 1t 5D = 400 1t 5D +1 420 1

> @l & [ anT | -2 | 200 46 | anT | = | 600 12

3 panyiie] [£3] INT = 90 [£3] INT = 90

4 E=] [£3] 58S -1 -100 [£3] 4S = 620 12

5 el = 6H | -1 | -100| & | 4H | +1 | e50 13

6 panyiic] [£3] 3NT = 400 [£3] 3NT = 400

7 E=] 1t 3NT +2 660 1t 3NT +1 630 1

8 TS [£3] 2C -1 -50 [£3] 3HX = 530 11

9 panyiie] [ri] 4Cx = -710 [£3] 3Sx -4 -800 3

10 | \WHB x INTX -2 500 [£3] 2S = 110 9

11 | YW [£3] INT +2 150 [ri] 2S -3 150

12 | &t l & 4D = | -130 | 7 4D | +1 | -150 | 1

13 | WH/ 1t 3H = 140 [£3] 4S -2 -200 8

14 |wWEel &8 | 2nT | +2 | 180 | 7 2H | -3 | 150 1

DATUM%Ztit g
B RETBX I'GER V. %] 23 | 49
BEH/B5RX  -33 1RERET /1741 2 ait 23 | 49
nERE/MEEE -2 B PE/S R R 33 V.P. 3.62 | 16.38
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 6D = 920 x 4Sx -1 100 13
2 it [£3] 3NT = 600 1t 3NT -2 -200 13
3 ,?ﬁ [£3] INT = 90 [£3] INT = 90
4 WE=] [£3] 4S +1 650 [£3] 3NT = 600 2
5 |gdt| &8 | 4H | +1 | eso | & | aNnT | = | e00 | 2
6 panyiic] [£3] 3NT = 400 [£3] 3NT = 400
7 E=] 1t 3NT +2 660 1t 3NT +1 630 1
8 TS [ri] 3NTX -2 300 [£3] 3H = 140 4
9 panyiie] [ri] 4C = -130 [£3] 4H -3 -150 1
10 | WHB [£3] 2S -1 -100 [£3] 2S +1 140 6
11 | W [ri] 2S -2 100 [ri] 2S -3 150 2
12 | Edb [ri] 3D +1 -130 [£3] 3S -2 -200 2
13 | WH/ 1t 3NTX -1 -200 [£3] 4S -1 -100 3
14 | W [£3] 2S +1 140 1t 2H = 110 1
DATUM%it g
el &) I~ MiskEh Y. 3+ 39 | 11
HER/XIXKE 22 KB/ ZHS -14 Aait 39 | 11
wmS/8ME 14 TNIE/IKEE 22 V.P. 16.72 | 3.28
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1 TS x 5Sx -2 300 x 6SXx -3 500 5
2 |kl m | anT | = | 600 | ®m | aNT | = | 600
3 panyiie] [£3] INT = 90 [£3] INT = 90
4 WE=] [£3] 4Sx = 790 [£3] 2S +3 200 11
5 |Fitl = 4H +1 650 [£3] 4H +1 650
6 panyiic] [£3] 3NT = 400 [£3] 3NT = 400
7 E=] 1t 3NT +2 660 1t 3NT +2 660
8 TS x INT = -90 [ri] 3D = -110 1
9 panyiie] [£3] 2S -3 -150 x 4C = -130 1
10 | WHB [£3] 2S -1 -100 1t 2H +1 140 6
11 | W [ri] 2S -3 150 [£3] INT +2 150
12 | el 3D | +1 | -130 | 3D | +2 | -150 | 1
13 | WH/ 1t 4C -1 -100 [ri] 2H -2 200 7
14 | W [£3] 2S +1 140 [ri] INT -3 150
DATUM%Ztit g
B HEE 2 r: 5 ] 13 | 19
PR E/FEEN 4 FER/EIRkEE 5 ait 13 | 19
87 /{AIEE) -5 EBREIE/XU/NFR -4 V.P. 8.13 | 11.87




